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N Write these numbers into the Hexanumber.

(2] oNE HuNpRep AND ELevEN
8 [z2) Twewe

Two THOUSAND 51X HUNPRED
' ANp NINETY SEVEN

THiRTY TwWo

NINE HUNDRED AND SIXTY SiX

(1) THREE HUNPRED AND ONE
(2 Five Nprey Anp sevey

(= Twenty Two

ONE HUNDREP AND TWoO

(3] six HUNDRED AN EiHTY TWO
(€] six HNPRED AND FORTY FOVR.
(&) Ten

(@) seven HunpRED AND
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forty nine

@ _seventy three

nine_fhousand one hundred and fifty

Put these boxes in the right order so that the numbers go from smallest to largest?

.................. [ P

I “wHAr pip THE

5]
s
E[A] :

EBMEMEEREAEEEEE E

E;s
Lle|nlal |IT |z M| E| [N]|2] |5
12|32

2 [

5 a2 |12 15| [17]23] [22]s5]0¢| :

: EACH sAY WHEN
: -rusaﬁps CAME iIN P

A TN NG — APDiTioN 4AN BE
% Y lzu (‘L WA’A f;ri;ﬁva--ssﬁz;mmmf"”--'

2 4 8 ; 7 9 Z
+ + 4+ + 2z + +2 + 4 +

T % 0 T & T B
é q z 4 2 13 é
17% ts +6 £3 +3 +B +5
= B T 7 v I =z
t i L2 ! : : ¢
+ + + + + + /
T % T T B T =

3 I 5 e [ 5 32
z 7 o z 4 4+ 2
+2 +1 +4 +2 +3 +6 +7
/ 9 9 12 I3 5 12
5 ) 5 8 4 6 ]
P 7 3 3 q 6 5
+2 +3 +5 +6 +7 +7 +7
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42 +22+15=/9 16 +12421= 44
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q+s‘=ﬁf+e=ﬁs+l-__
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Find a place for each card. (You can only use each card once.)
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- 5 4 2 4 a 4 =TIME TAKEN.

t +; +7 4 t x d— LL - t each letter above the comrect answer low.
—2_2 2_ v 2; t K & Z ” Put each I bove th bel
=Which group finished first ? 1 % V/////%’ % ) é 7]

) : ? / % / // 2 C //
= Groups now swap over and try again. / % 2 /// / oy / a
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7 (O]64][I13]7]I (6318 787 46z 7é6 675 asr 32 tes ¢33
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275 251 /5 280 73 2 389 I/5

_e: =43 —a  -he  -de -z P T R R P S S S

23 24 40 43 25 32 148 /5 54 _58 |58 47 117 186

g /g 36 75 45 —127 —LLV - q - TRACTIONS, THEN PECOVE
(2 4

58+ 462 766 ess 162 31z SUB ITHE,QUEST’DNS-’Z////////://///////////////@
-247 =235 =129 127 -4+t —2os 7 04 755
637 5I& 107 e sis [ Y [p) 58 =265 nl2 ¢!

S R B K-35 D5 Patg iy

=347 =263 -—242 =455 -75% =157 2, oo, —W”” rerve ey t/////////,///,,m..,,,......Z

275 25 /5 280 73 265 i @i e @i M2

4105 341 zi2 302 +17 ziz %M:‘—L‘— k2l =iz’ 217 3%2
=267 =166  =l5e  -zs% =251 z1es % 286 1887 T E5pq: <L ’

148 75 54 58 158 47 e W T . S

2N 52 c34 ¢ ¢54 673 -_17._‘1_

— Subtract the centre number from the numbers around the circ é '—1‘—% '—\1-3—6}- =23 ::3&’%16 #t 5 ak

a5 oy an, i S
a qpﬁ///‘ qb Q//ﬁqp a = Why do bees have sticky hair 7 )
DFdE Nh-0N Ehea BECAUSE THEY USE HONEY COMBS
0 % a % ev 3é6 247 (668 10 71 247 €19 531 247 569 166 371 247 5391 211 9 247 561 166 217 3¢ 3¢¢ 371
ey Bl Vel "THES DONT KNOW THE WORDS
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58 S i i B i

47 z8 ze 41 33 35
=13 -5 -—11 =417 =22 =2t

34 13 5 32 _1 [

z2 27 25 21 l1é 38 Q

24 35 28 4+4 35 28
+ 17 + 26 +13% + 2 7 +|é
4l 6l 4l 5l gﬁ 43
24 3+ 31 z4 32 40

-18 =-—26 =15 =172 =—28 =23

6 8 16 / 4 7

13¢ 224 148 141 278 164
+125S +1 1 7 +123 +249 +11s +129
26l 341 271 390 343 243
153 192 234 z |1 251 222

-1 - - Lo - -1 15
= 43 PBF Yo THE 7

= R f

zns=_§ 4x4=ﬁ_5xﬁ=2_4'1 ‘z=i8_ 7x+=g 3 x7=_2_l_
‘ixa=_O_ +xs=_§27x1=_li sxa=_6ft Gx5=io|1x5=—3—§
rxf=2_5 6xz=_’2 7x6=_-rﬁﬂx5=_4'_o bxl=_6 z‘z=_4_
oxq»=3_2 ||‘6=& 4xla=ﬂ) 5x'i=_222.xlo=2_o +xll=ﬁ'
fx’i=_4'_5 $x9=_4'§‘|x4=_8_l zx|z=_2i' 6x5=ﬂ §x3=£

sasssnuEnmEn ses|] LEVEL 2 |susunssnssus sEsssEsussEsEREEEEES

42 i 72 44 ¢ g2 57
x 3 x 5 x 3 X L x b6 X 4 X é
126 55 216 88 366 328 _l/I

IE"2-=_3_6 17x 5=i 23x+=_q2 14x2= __8 ;;;:_:_7_0 ClIx3 =I_8_3

242 121 élsl 271 415 316
x 2 X 4 x & X 2 x 3 x4
484 484 4888 542 245 1264

3225 417 525 616 475 395

x 5 x 6 x 3 x 8 @ x 5 @ 0x 7
625 2502 575 4428 2375 2765

; v >
REESEENNEEREEEESERNEEERREERUES LE EL’ MsEEEEsEsEEAEEREREES

343 22 447 358 z4¢ 371 343
x 23

17 xle x22z x14 x15 247
2401 I325 88§ 3222 1230 1113 240l

3430 2210 8880 3580 2460 7420 13720
583] 3536 4/68 6802 3690 8533 16121

e w15
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THESE SUME AS
WT7AICATIOVN SENTENCEY
A M ’m -;mfﬂkﬁrqu S PONE FR yov /7
S+5+5 - 3x5 6+8+8+8 = _4XE 4.4 - 2X4
q+9+9 = 3x49 4++q+~¢++=5x_ltz*zoz+z.+7.-5X2

7,7,7”,7,7,7-7_)(7 6rer6+6terer616 = _SXO

Multiply each number by 10

1€ |20 |10 |28 | 7 |15 | 8 |4 |13 |10 |53 |30 [400|31t2|215| 0

160 1200|100 280| 70 [I150 | 80 | 40 |I130 [I00 | 53 [300|+000| 3420 2150 O

Multiply each mimber by 100

2 |6 |1 |15|3 (22|18 (25 |72 |lco | 0 |34 |5c0 (316 (20 (567
200[600 00 {1500[300 .| 1800 |2500|7200{000d| O 3400008600 51000716700

Fill out the multiplication squares

7 432 X|9|5|4|2 X|5|7|9

422418 |12 3 [27]15]12] 6 12 |60 |84 |08

5613224 16 8 |724032 I6 1015070 |90

X
é
2|14|8|6|4 7 |63|35|128| 14| |15 |75]I05]35
8
'

714132 5 |45|25[20/10
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Multiply each of the centre numbers by the numbers around the circle.

é

G i Gy
Sionn AR B

wMuch] (V]

ma'o

v+ . MULTIPLIGATRNY

Lxe"_67>‘l-ll
7x5<3D4x7 =28
‘?‘xL-iG x 8 =&B
3x1=2ex2 =124

x I=L5xq-{t53 x3-ﬂ_1 xq'&
x8=_8 i x5=i~59x1-.’é7 x'1=_6_‘3
x‘l=7_27xlo=_7__oéxé-3_6u xll-ﬁl
x5=2_73 xu=§§mx4-_4_mez-_2_o

st-xz xs-iﬂ x7=i4— x+=ﬁ! x l-it xu.-.Lz
ax5-4‘_om,<a-_o_e ,‘l=6_n.xu.=ﬁ4'1 x8=7_26 xs-L

Use your multiplication skills to fill in the spaces.

: éx-ixa ex@-ﬁx‘i +x@=3x|z_
xlz=‘?>‘6 x3-ﬂ‘1' 10 xa=ux
5x6=’<3 mx-sns ,<z=s;4
+z.xz->t7 1”‘-I5)& ]

Put each letter above the correct answer below.
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m, — piviSioN LAN BE
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: 16 +z=_8 za+4=l 3z + B=.i
55 +5 = ” 53-‘7=_7_ se:—1=l u+;._.¢+7_=l
¢ +i10=_0 sr-ﬂ=i z5+5=_5 u%lsﬁb+é=L
5¢ 6 = lc—l:i zo%‘r-i 63+1=_7 M%Io=£
64+ - 8 = 8 3f+|z=_344+n-i s2:7=_6 zr+3=i
eaf-los_g 35+5=_sz+f= 3 u+2.=ﬁ ez-:-?s_q_

sennnunessnsnns|l LEVEL 2 |asussnsnsnnnss

303:‘3=_LQL GZféeSM' 1317‘4:&8 qsl+q=m
e12+6=12 ¢15:5=123 330 :6=55 3, :4=53

16 + 42229 ¢27+3=209 435, :8-54 4304+,-213
225+ 5=4D 14t +4=36 ,Le+4=154 g75:7-125
256

1. Divide 768 by 3.

2. What is 420 divided by 7 ? 60

3. Russell worked for 12 hours and made $72. $6
How much did he make per hour ?

4. Mrs Armstrong's class of 30 students raised $240 towards
their class trip. How much did each student make ?

5. There are 200 students and 10 teachers.

If you had to give each teacher an equal amount of students
how many would there be per class ? di "'Mde”'f's

Z Divide each number by 10

40 | 20 | 10 | 580 |l0o0

”7/ ;l

1600 2000 10000 (12680 |157800

4|21 [ssliod

160 | 200 | 1000 | 1268 |I5780

Divide eachmmber by 100 /7777772 77/

2000|2500 |5000| 200 |3600| 1500

53000 | 41600 | 271000 (19000000

36| I5 | 530 | 416 | 2710 |110000

AN 5 0 2 B2
Vo S

WRITE THESE ERUATIONS AS
= A PiviSioN.

Divide each number by the one in the centre of each circle.

a8 o /2/

4 125

éXAMPlE [

[ 1Z+12+12 = 36

_36e+3 =12

| 7+7 =14

|
l4:2=7 |

4x8 =

32 32+4=8 or 32+8ﬂ

14

t 2 =

15

[ ara+a-27 27:3:9 |
Fx3 =15 15350rl553‘

32 :2 |
r5=40 = 2 ‘

B v 9

204° S g

-po -])4 -\m inifi ”/-,'

48lg | 6! 84|12 / 100 |25 | 4
¢|2| 3] 213 |7 |5 |2
18142 414 10:5]2
LEEA RN R R AR RNRRRER NN NANNRANNNNNNNNNENENRENANNNNNNNNNNENNN]
Dad shared 12 apples Mum shared 80¢ between Uncle Ben shared 27
equally among his 4 4 children. chocolates between 4
children. How much did each child children.
How many apples did get? 2 O How many did each child
each child get ? c get?
3 0 & How many were left for
~ Uncle Ben ?
@ oﬁj A ncle Ben? 3
(=1
|
24 =

= (20|40 |¢o |60 | | = 12| 24|36 |48 | | = | 50 100|200 500
2 [10120[30|140| | z | 6 |I12|I8 |24 |10 | 5 |IO |20/50
4+ |5|0]5|20|| 2|4 |8 |I2]16]|]|5 |lO|20/40|l0C
5148121614369 |I2]]=2[25/50[0025G
e[ 214|6|8|]e|2|4|6|8|]|=5|2|4]|8 |20

Find a place for each card. (You can only use each card once.)

) Bl EEEE] G b
zss.

|e+z= 412—7- /oﬂ:—lo:
;s+‘1= le+=8 n+@=7 7_7s-=1

%/’Z/-/Z/// %

36:6- 6 o

e e i

mp:vmﬂ»

kEVlSlaN

45r‘7—'i 36+

se:8:-_/ 70:

32.*‘1'=_8_ 48

1o /. 30f5=_6_ 41:2-22 52:6-12 7
a- 4 10s:n-9 45315 soc10- 6 ’
210 s56:7-8 ie:a-4 7z24q-8 ///
f5=£ !L'i‘?=_i BZ‘Z=_4i 2 7'; /,

Examples. 8

Sometimes in division something is left over.
=5 =12 12 +5 =22 1a+49 =21 2
8 £l
7

% 5

277/7/7//////// 77 T T T

//// Now try these.

% 1 1 3 1 1

) 5127 7:2:37 182 5:35 13- 6:28 wis-45 |

7, ] 1 1 2 3 f

A o13e7:lZ2 1322962 13:3:43 12:5-25 17:8-3%

/ | 3 s 2 1 //

// 1+:4:2% 8:5-15 & I1+3:33 3:2-]2 .

. 2 3 3 5 s |
8:3:23 13:10-200 17:7:27 13:8:158 7: 4-1%

% You might’necd a calculator.

/ 150+ 25=_6_ 115+l§=£ 1a5+|5=;7 741 +|4=i3

o

// 14 =~ 13 =13 s +3?=ﬁ zaq-ill=l 396 :—35='l

7 s¢o = 28 = 20 3;3—:|1=£ 59t =18 =33 56r+|1=£

0

2 368 = 16 =23 513 =127= 22 asz:3+=28 837 +31=2/

7 ne =19-12 3s1:13=-27 e2r:13-48 376 : 47=-_8

D 7 )

179



=HoW MANY PiFFERENT NVMBERS
CAN YoV FiND, VSiNG THE NUMBER
THREE TIMES, AVD ANY MATHEMATICAL s-avP

£4 Fn}ﬂm
(THE FiRST oNE j$ DorE Fox v 7 )
7 O 3+2+3 =19
7 .
« The sum of 9 an is 9 3+(3+3)=4
f9and 8 is 17, q +8= ‘7 %
* The difference b % B 2ot
etween 24 and 16 is 8. 24_ _ l6 — 8 %
* 45 is greater th. %
greater than 22. 4_5 > 22 % Complete these sentences so that they all equal 12.
* The product of 6 an, is
Product of 6 and 4 s 24 6><4=24Z . 12| 2 @"7- “""
* The sum of 8 and 12 s less than 30, 8 + 12 < 30 Z . @ n + = |12
* 8from13is 5 /
* 12 and 9 is 21 /2 + q — 21 % Show 6 more maths sentences that equal 12. _L
* Add 7103 and get 10 . O/ x2 =1 O _3 of 36 = I2
' 7+3=/O/ 84—8—4—:/2 IOI—7=I2
* S i less than 24 v BO+2=12 ®30-6x3-=1I2
* Subtract 3 from 27 to get 24 27 - 3 = 24 %szlgﬁi ;n::rg(::::gﬂ:ay}:uofgmnngotll/ls nu%gfsn fikﬁ, poss b/e
* The product of 8 and 5 is equal to the
sum of 36 and 4 x5 = 36 + 15 20 36 1oo
* 16 divided by 8 is 2
: 6 + 8 =2 O G 6 | May examp/es are looss:b/e N
* 27 i greater than 16 Giet somebody to check your work.
27 > 16 (2] Y Y
VI (3x3)+(3%3)-3
tiply six eights and get forty eight. 6 X 8 — 4_8 /
B (5x5)-(5+5)

2w w23
244 Sk 95

—WHYW ELEPHANTS HAVE

- ove ,
Wﬁﬂﬂvzﬁs <0 MANY WRINKLES P
To find the answer, calculate the missing number in each problem,

12 Fill in the spaces with the correct number 23 then put the letter above that number in the code below.
l6+ 4= = + 8 3xa2x_=— = 30 (5~t)r32 22 Nq+¢1ui+-1=4'xa s+e<—e=i*z
(ue)+i=+o 11'7-3’5-_7 +z.+_7=ﬁ—3 ;xn_:gxﬁ le-2=49-‘=
- . 5 -
|aa-za=4ax2 ro+w-£>‘|a (B"Z)*6=_2_2 (6+6)+ 2= —7—‘ 5"" 3 >
. +_O0 =19 (8xe)r =_
(6x D )+10=40 (_5_Ha)->'=45 Bx(2+6) =_6ﬁ (46 6) 12
19 + 8 =30~ 3 E *z-iztiz
+4x 2 xa =72 (m+3)+ % =) iz+(e2zr= % Il
< 9 =16 +
....................................................................... . s
Now give the correct sign. (+ - x =) \—}QE* 8 ybu E V E R
—_— "z s o 13 e

§4®+=z+ iz (s - 4 |6@+=z.xz.§ N

0 16 5 : L JNe; —/RQM
(26 -5)=-7X)3 8 2=5+5 (3x5) e =

: 777 ///

: 2 {{///
3ale-1)= ) (s5- z)'!-_é
‘5 @(3 +5)=13 lO@HK 2)=2 36@+=7®1 1oxte-+12 20 . 3x(5-312_0 6 txtzep= 1L 12

777,
m 5.(“;).4’_0 2L (+- 4)x5e_V O . 1‘“(5‘46)'44—
i 4:(:0-1)-2
Sx(6+4)= 50 ex(12-7)= 30 (2+3)x2=_2_ IO

a (5= 1-)!3*; -(,,.1).36// //
//////// 22 ///// 72722 //

E

;‘.

-

.
l\)
.{.\
ZNAM{Z
-
:
2

l

5
\‘\\\\\\\\\\\\\\ N\

Complete the sentences by using > = or < signs

695 9 x 7 e +5 z7 9 %9 laa

5o 43+ 4 27+5 E 32 100~ 40 E 60
NEW ZEAL
36 E 9 x ¢+ 2 * 13 27 15 x5 30 o 16 4% guéu/:‘\-[ygaD
WINS T
36—4 20-12 17+2 aﬂs 14-8 sr 6 ;?TT 6‘5"!‘5
WORLD CUF Ps
24 3 50 36 30 32 40 20

I5s+5|<|2¢+6 5% o 3*7- Joxq0 B‘io”o

180



NEZA R

= Calculate t‘hlc missing m;m:e: in each problem, then put the letter above that number in the code below.
3¢ - 24+ 6 E 12 1z2+3
s-7.2-11 26 -4+4=25
- ﬂﬂﬂ 42-6x3 —% Em 7+9 6= T64l.—
9 - | 27 +9 +3- 29U 18 -8+2-=_1%
Enumngll gaaugu e 5 M 4r7-2-18
0= 18- 18- =0 . E 2e1- 8 A | oy G
B el § gogooming B crlE (uEed
2 47 - ) c
a “’ gu@ |-|=- L HEMATLCIANS ARE

uﬂ ol Bl I 138 6 6l 8 6 2 32 15 9 13

BAEE rgnumnmulgu REAL COOL CAIS?”

1913 30 8 25 25 3 s 14 16 15

O ZAR0S Fopmp  EoEOR L

En % + + + Complete this table for coins maki —
+ ’ﬂ 10 r s making up a dollar.

[Ha muﬂ!ﬁﬂlﬂﬂlﬂlﬂ - - 1 e, ) 777777777

a a Hﬁnuugmua // Number to make $1 / Fraction of a §

g Gonsa B - | -] 24 2 . /

B8 .ummuumuuag 117 L oo : ,

+ 0]+ 135 =
Iﬂ % pEGEd ZaDnE 2
E@H@ﬂﬂ '% 20¢ 5 N

5
Eagnaa Eﬂﬂﬂﬂﬂ!ﬂl@ﬂ
m m 10c 10 i
10
Sc 20 il
20_

1o complelc the s @pluz these sentences by wriling
= or > intoeach O @p:«:ugesesen:ngsbywﬁnng Z
7+ = 1z 6 + S @ q
8 + [[4= 22 m-[8-all]l-¢-5
| ISy A P B
[+ ¢ = 15 o v+ 2 [0 -8 -2[8 -5-3 1z-6 & 3
5+Zq= I;+Z®'o+7 -5‘7"1"3 ”‘1‘@7
4 + 18 = 22 8 +12)10 +10 22 - 8:[4 o-8 Q e
6 + = 23 8 + Z @82' 5 - 63@ ,; —'z @ 6
Pol+ 12 = 38 a4+ + 7 21- (18] - ¢ 8 -1z O e
- TR 5-7 O
19 - = |
— COMPLETE THE SQVARES BY APPiNG THE RoWS ANP coLVMNS 77
i . il SUBTRACTION SRUARES
Y I _/Q_j I el 28 ol e 44 ‘—4 5 T £y - -
: - ____1: _ ; lo |7 j 12| 8 H
8|+ |2 1|5 |14 16 |15 | 3 2210 S ool 6
22 ol ol 4o '4-O¢3575I 7 ; .s z |3 5|3 |2 9|6 3
--------- v, 2 22 #0135[79) 4:2[o] (5i5]0] (75]2] iBiZ3]
CRAZY. ) CRALY,
CROSSNMBER T CROS"
" ACROSS pwN 1|6 2
1. Increase 10 by 6. 1. S+6+8 3 WS ;
1. Take 12 away from 20.
3. The sul f 6 and 3. 2. 16 +12
4 Resel::ves:u .9 * 25 2. Th:diffcmncchetwcanandZO. 3. 100 - 10
& I.‘%Z:I;%i‘ 5. 24+25+33 4 ?ﬁ:ﬁﬁ,ﬁss‘oloo 5. 25-10
How much is saved altogether? Lrse142 How much does she have left? 6. 30-8
> ?::: ﬂ\saggznl:s\;ziz:s:;s:‘:;;es 7. Take 8 away from 20. 7.32-13
Audrey has 25 music cas 9. Decrease 30 by 1. 8. 34- 20

settes
How many cassettes altogether?
10. The difference between 40 and 6.

6. Whatis 6 more than 16.

Wy L




G a

5¢| ¢ How much for

This spider has 8 legs
How many legs do 8 spiders have!,

64

>

1 apple costs 25
How much for 4 apples ?

& 51

1 Easter egg costs 20 ¢
How much for 3 Easter eggs ?

6
910 11 12 4
16 17 18 15 29

There are 7 days in a week.
How many days in 4 weeks ?

45

il

Groups now swap over and try again.

23 3 14 z6 41 54

3 x 5 X 8 x 4 x 7 x 6

69 80 12 104 287 324

17 24 15 1 13 14

xX 2. X 6 x 7 x 8 x 7 S |

34 144 I05 88 a 19
Which group finished first.

90 78 27 5¢ 62 15

x 3 x 5 X 6 x 8 x 2 x 7

270 340 62 448 124 105

17 78 22 51 23 15

x 9 P N x_3 x 6 x 7 X __Ze

53 312 66 306 161 30
Which group made the most mistakes ?

=ORPERING

YoR
— MYLTIFLICATIGN

FiRST OF ALLTRY THESE g (REMEMBER BQA%@S

36

(6 x 2) x 3=__ 20 & x (2
(Bx;)xz=_&_ 8 x (3
(6x+)x3=_L 6 x (4
(10 x 3) x 8= 240 1ox (3
(8 x 6) x 2= 96 8 x (e

‘Which column was the easiest to work out ? CO umn 2

3)=__i£,)

x z)=_8—
x 3)= /2

x 8)=_240
x 2)= 96_

should be easier

When you change the order in multiplication does the answer chan,

=MOW TRY THESE ¥

ge ?

CIiRCLE THE EASIEST OMNE To ANSWEER.

d}(l}:jg_)i& (25 x 12
<(+\><zs)x|z_=@ (4 % 12

A short way;?muldplying isto group together certain numbers.

yx 4=_ 1200
) x25-_ 1200

—_ 3
5 x16 x 2 = 1o x s 8 x 20 x 5 = 8 x Joo
= 160 = goo
—NowaKYTHESE,’
Z—KIGKS-_I@S x 2z xz=___osfx50xz=iOO
5x1x27-2_702150x1‘_m5 xz‘rxz-_&o
+ x 29 for_gQOzfxso x+-8_QQOzo x 16 xs-m)
ioxlﬁxlﬂl_ggoﬁ' x 99 xl‘@ 17 x 5 lzo'ﬂo
z x 67x5=@4 x (1Z x25=moyooxl} xZ'@OO
18 x 10 x 10=98002 x ¢7 x 5-670 11 x2 x 0 =/4000

/77 L diiiiddiitddadddd

ARoSS

. 3
1. Thepmd\lclu!ﬂmdl 1. 4x

. 5x5
3. Multiply 5 by 9 2.5x
. 3x2
4. 13 times 2 3. 23x
5. Eggs are sold in cartons containing 12 eges.
How many eggs in 6 cartons ? . 2at3ed

7. Tennis balls are sold in half dozen packets.
How many balls in 9 packets ?

T

6. 2x2x11

4. 1x2x11 -

HOLE PiSTANCE kk CLVB % STRENGTH kk STROKES
+#m | (557 + (355 2
@ | z5sm |(553 + (553 - (551 3
B | 2sm | (357 + (25 2
Q | zm | (357 + (255 2
B | 2~ | (557 - (253 2
® | s5m | (557 I
ism | (553 + (35 2
A | 46m |(5S7 + (551 - (253 3
| | sm | (557 - (357 2

TOTAL 19

# EXAMPLE ANSWERS ONLY *x

5" reads " five sq
Mathematically it

uared "
means 5 x 5, which equals 25

V25 -

-4 |[4=16 7% - 3= 9
=25 8* = 6% 6% = 6 12 = _|
=49 j0* = 100 13 = 169 1s*= 225
Now answer the questions and write each answer in the correct square.
If you have all the answers correct you will have a MAGIC square!
%
Lostm3=6 4. 423-3
2 1t =L 4. e:e-2
3. 2°+2°=8 8. 549
4. I'+ ¢ -7 q. 22 1% 4
5. 30-5*=5

You use squares to find the square root of a number.

5 becavse 5 x 5 = 25

Find the square root of these numbers.

4a-_7 || e -4 ||/zs -5 || /e -6

i1-8 || ww-12 ||m -3 || - L

Jer =94 || /& =2 || fiee=10 6= 13
Answer each question and write the answer in the correct square.

You should have another magic square!
,/ﬁv/ﬁl@sv/ﬁfz_’ﬁn 5"/37& llol5 3” +22
2w wlSs ssall wim-m L ool 13| 17] 8
s -5l g v B unmer L F 0 ul6mq
4ﬁ2,+/m_2_21 /42 x 12 I!M'Z""’LS 2112 ]
;ﬁ?nrzow w2212 15 g2 14 IS7 I‘IS I;I4- ‘14
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3 5 8 1 9 4 10 2 15 7

6l 8lnl4«12[7]113[5]18]I0
Add 8 to each number +8

1 5 6 9 2 0 8 3 13 4
a3l 7086 ] 11]21]12
Add 4 to each number +4

3 1 5 9 12 7 0 4 6 2

Z151a [B3[l6]lll]4]18]I0]6
Add 6 to each number +6

6 2 0 9 1 14 5 3 7 4
2186 B 71200 1119113110
Add 9 to each number +9

6 7 1 3 9 20 2 5 0 4

Sl lolzll2a] I {14149 [I3

I

iy ATk
Lkt L d

Add 7 to each number +7

14 19 17 15 12 10 9 13 16 23
2112624122114 [ 7] 16 [20]23]30
Add 12 to each number +12
12 9 8 11 14 3 7 10 6 0
241 211201231261 5] 1 | 22] 18] I2
Add 3 to each number +3
15 19 18 11 9 4 10 2 15 17
g 1221211141121 711315 [18 120
Add 5 to each number +5
22 10 17 15 19 14 11 13 18 0
27115 122120(24| 9] 16| 18]123] 5
Add 8 to each number +8
11 15 16 19 12 0 18 13 14 32
9 12312427120 8 [ 26] 21 | 22{40
Add 4 to each number +4
13 11 15 19 22 17 10 14 16 12
71511 123[26] 2] 141 18120] 16

—_
Subtract 2 from each number

16 12 10 19 11 24

4101811714922

Subtract 5 from each number

16 17 11 13 19 22

121618114l

3 from each number

5 8 10 9 4

25171611

Subtract 6 from each number

12 10 9 6 7 14

61413101118

Subtract 4 from each number

11 5 6 9 12 10

| 12151816

Subtract 7 from each number

13 11 15 9 12 7

6148121510

e
Subtract 6 from each number _6
6 12 10 19 11 14 15 13 7 8
Ol6]l4|B3[5[8]lag]l /71112
Subtract 9 from each number —9
16 17 11 13 9 20 12 15 10 14

sloln[3[6] 1[5

Subtract 7 from each number —7
14 19 17 15 12 10 9 13 16 23
Zlzlio]l8]l5(3[2[6]1491I6
Subtract 12 from each number —12
12 19 18 13 14 23 17 20 16 15
ol7lelr [2]n]518f 413
Subtract 3 from each number —3
15 19 | 18 11 9 4 10 12 15 17
21686l [ /71a]2]4
Subtract 5 from each number —5
22 10 17 15 17 14 11 13 18 10
7151121011219 {6 811315
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THE =
BLACKBELT
T Multiply each number by 4 Multiply each number by 8 x8
5 6 9 2 1 5 6 9 2 0 8 3 13 4
20124(36] & S 14048721 16| O [ 64]24]104]32
Multiply each number by 6 X6 Multiply each number by 6 X6
1 5 9 2 7 10 3 1 5 9 12 7 0 4 6 2
181 6 13054 1214260 81 6 130 [54|72[42 241 36| 12
Multiply each number by 3 x3 Multiply each number by 4 x4
2 0 9 1 6 2 0 9 1 14 5 3 7 4
81 610 [27] 3 241 810 136] 4 [56] 20| 12]28] 16
Multiply each number by 5 Multiply each number by 7 x7
1 3 9 6 7 1 3 9 2 12 5 0 4
30[35]| 5| /5[45 2149171211631 14184]|35] 0[28
Multiply each number by 7 Multiply each number by 5 x5
5 8 1 9 3 5 8 1 9 4 10 2 12 7
20]35]56] 7163 5 [25]40] 5 45]20[50] 016035
Multiply each number by 3 x3
2 |10 7 2 10 9 5 | 7 4 1 3 13 | 0
41201181 10] 14 6 (30|27 B2 121319390

40w w4
424° Sh 43

THE
Mi‘HrY > r) THE
MATHS g MiGHTY o o
puickeeLT pvisiv |11 | B | pivisioV [2
- N1
Divide each number by 2 _2 Divide each number by 3 ;3 [
14 18 10 6 12 20 36 8 16 22 3 9 27 12 15 5 18 24 29 30
717 [ 51316 0 1B Z 1811 3191415121618 /100
Divide each number by 8 =8 Divide each number by 5 =5
16 88 8 24 40 32 64 48 80 96
> T [T (35481 6[0[12 ST ST e T Ts o eraiT
Divide each number by 3 —3 Divide each number by 7 =7
15 [39 | 18 | 12| 9 | 24 |33 | 21 ] 30 | 27 14 | 56 | 7 | 28| 21 | 70 | 49 | 35 | 42 | 8a
S1i316l 413811711014 218l 114130l 756112
Divide each number by 5 =5 Divide each number by 4 —4
20 10 15 35 50 5 45 55 30 60 32 12 16 4 20 8 24 36 40 44
4 1213 17110] 1 a1l {6112 S| 34115216 (9]I0]1
Divide each number by 8 =8 Divide each number by 6 =6
16 8 40 | 24 | 72 | 48 88 | 32 | 80 | 56 6 12 | 24 | 3 | 18 | 42 | 66 | 30 | 48 | 54
I 1513Jagaf[é6]lin]4]0]7 I1T2141613 7111 ]5]814
Divide each number by 4 =4 Divide each number by 9 =9
40 | 4 24 | 36| 16 | 44 8 28 | 32 | 20 90 9 27 | 36 | 99 | 18 | 45 | 72 | 54 | 63
10 { | 6l (4|1l |2 71815 olr1ri3l4ln1l2|5[8[6 17
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E is a set of even numbers between 0 & 10

E-{ 2 4 68 )

True or False?

zoee  FALSE

see IRUE
7ee_ FALSE

The members of a set are called El.m. They are written between braces { }

Set A has the elements 1, 2, 3, 4

A={12734}

The number 4 is an element of set A 4 ¢ A O is a set of counting numbers less than 7

v o-{_ 1 2.3 456 ,

§\ X is a set of counting numbers between 15 and 25

s e a[RUE e € aFALSEA e aFALSE x=§_16 17,18 11, 20, 21, 22, 23 24 3}

we aFALSE o e aFALSE7 € aTRUE
2 4e aTRUE - GTRUE 2 € GTRUE Describe these sets in words. "Less than" and "Between" are useful words to

remember when  describing sets.
N

8

u Write TRUE or FALSE for s
13

0

9 Make these statements shorter by using €

7 is an clement of Q 7 €

4 is an element of Q

={,2.5.4.5.¢] Counting _numbers less n 7
={2.,4.¢.8.10} Even numbers between | and 1l

6 is an element of Q

={ 15.16.17.18 } Counting numbers between 14 and 19

1 is an clement of Q l ={ 22,24, 26,28 } Even numbers between 21 and 29
E ={ 4.15.6.m.18 } Counting numbers between 13 and 14
2 4 ={ 5. 10.15.20,26 } Multiples of 5 less than 30
¢ s XS, TS Mo R 2 0SS
S e S0 S P = { colin, Brett, Conrad, Jamic, Ben}F ive_common_mle_narmes

AH FNEYRRS

Write all these sets using braces = (Mary, Joanne, Anita } Tl’ll’ee commeon femﬂ/e names
M- {W, X Yy z pe {I, 2, 3, 4, 5} i]-" = {3une, July, Janary } Months of the year starting with J

N= {ﬂ' c, d' e} 0= {2, 4’, 6, 8}' M = {January, May, July, August, Decembcr} MO 'H’l WI'H? 3l da

e M EEssEEEEEsEEsEEsssEmEsEEssssssssesssssssessEasas [ excluding March and October

E Write down the number of elements in each set in the box MZ

ol »“4' shAQ v)“‘v v>“4v

_{ % Joh G ietiet )

-{ {et gt feriztier >
A ,"‘« DAV v>'w4 r,,‘«

f % i
Set A has exactly the same elements as Set B therefore A = B \"
Write equal sets so that X=Y % = fo”( =00 =00 }

A\

x={ 1+, 2 .3.,%+ ) y=-{_4 3 2| } ?,f@‘@g—@@ﬁ} B
X={ 15, 0 .m.21 } y=f_ 21417 15

T enml . B10000000]}

’ Write down all the sets that are equivalent

Equal sets have exactly the same elements no matter what the order is V
a . b . ¢
A={DOG, CAT, CANARY }

B = { cAT,CANARY, DOG } w -

X = { evew wmpers reweEN 0 %0} ¥ = 2, 4 6 8

X = merr 5erme or mememeer] ¥ = (0 b C d e 3 Sets V' and x are equiua/em‘

X= (-mE LAST 3 MoNTHS oF THE YEAR, } vs= ( OC‘f‘ NOU Dec } List the elements in these sets §
s that use a bat S - Baseball, Cricket 3
X = § otys ormenER sTARTING W T ] Y = f Tuesda_lji ThWSdﬁ_lj } 2-sports that use a ba (
Even numbers between 0 & |0 E - ( 2 4’ 6 8 ;
7 %
% 7 . . .
Z Equivalent Sets contain the same number of elements é Boys in our class with red hair R = { }
?’I//III/I//I/II’/II/III’II/IIIIII/IIIIIIIIIIIIIIIIIII/II/’II//IIIIIIIIIIIIIIIIIIIIIIIIII/ﬁ Girls in our class with black hair B = { ;
Set A % Set B Pupils in our class who walk to school W = t ;

Number of Elements Number of Elements

-3 3

Set A is equivalent to Set B

(B8 D
é R’ hﬂ Now write down all the sets above that are equivalent
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E=-(2,+.¢.8 )
@={|.5,$s A‘(Iﬂ | }

gon_lrue
N c E Fﬂ/se

Set C is a set of cutlery

Any element from set C is called a Subset

A Kaife is a subset of C / cC

A Selection of elements from set C can also be

called a Subset // ccC
P-{[ IALIOO)

rmmmmmﬁkj[”
(OO0 AT OO

Study these sets

Bﬂ= { 1,2,3,4,5,.6,7,6.,19,10 }

S-0s .5}

Write TRUE or FALSE for the following
seco_ lrue a<e _lalse
aen_lrue . .e_Fase

7777222222227 777 727222 27 7

INTERSECTION

In the diagram A={1,2,3,4)
B={4,56,728}

The shaded part is the intersection of set A and sct B.
The number in this shaded part is 4.

It is written ANB={4)}
THESE
—AN’WERavEsm
15 oo (L2 3. 4. 5 6
T, c= (1. 2 3 7 8 49 10}
B c Bnc= | L 2 3 )

If two seis have no clements that are the same then their intersection is an empty set { }

cat Horse
dog Bird
SetH Set O

1 Complete these by writing the intersections

H = {cat dog} 0 = {Home Bira}

HNO={)}

x-{abcactgl ¥ { cfgnii}xnr-{e f_g} ’
p-{3 % 5 YrRAb % 3 }ene-{ T }
f-{24e8wlo.{ 123456 }ra0-{2 46} ’
w{ O O NPw-{2 O LOaw-{ O }
ve{ acvon Jofovanyatvae{ o } .

= FRACTIONS =................

= A FRACTION I5 AFART oF soMETHiNG 7,/

—HERE'S AN

The square is divided into 4 parts.
One is shaded. Therefore # is shaded.

EXAMPLE
Y

In the circle beside each shape, write the fraction of the shape that is shaded.

il

NS

N

)

©
©
%%;% @ @

N
Yy
%%%g b

0

Rl
X

N\

[TT1T

——
S NN NN NN SN FE NN E NN NN NN SRS NN RSN R NGRS

=NOW SHAPE iN THESE

SiFES EACH
T SHoW  acTions

L
3

s
2

+-

+lw
IEN
2>

-

L
™
@
=
6

 E——
s | =z
5 5| 2
5@@
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_— Now usea <, > or = between each fraction.

gz FURTHER FRAGTIONS /2222
1] (2 3] (4)
! L 1 L £ A d 52
I 2 <z 0 <5 5 <% z ~ 5

] []

z 2 £ 4 2 1 - 5 3 3
.Lzr |L_L 3 < o s~ 4 2 1o 5<4-
3 3 3

2 a 2 5 3 2 A
i | % i | % 3 < 7 + = o 5 <73 >4
L L L L L
5 5 5 5 5 - .
'llTa I.'Lo. Ilé |'|Lo' #l# T%IT‘O' #l# Fill in the boxes with the correct numbers.

Q-
nL

—WALW FRMTMNS are fractions that are the same.

% isthesameas-g_- and .l% .,

Using the diagrams, write down the equivalent fractions. E

1 3 :’ i i
7 4 [z

The first one is done for you !

o
gl
[eo] £
N
'Y

J l - % Fill in the boxes
J J * 2 i. = _6_ = i = i =
Y/ o+ &8 + w2 6 7
AT T T T T 1]*% e .+ 0 .0 5 B
5 To 5 8 "z # 12 5 20
V77777 1 ,. 0 @ ., . .
Doz 1 1 1 1 1 * ) ZT % o 20 + (] & @
%k %R
77777/ 5 — el
i 3 ne 4
Il . 3 S 17 1[2_;;23 33z a2l
- - 4-_ 3
7077777 2077777+
52w v 53
-HOWPOE)!TI' —APING D =
CHANGE |7 7 ...
iNTO A FRACTioN? ///A/ﬂ///ﬁ ........ q]!'/ ............. FRACTFONS V 4
M 1 2 Each fraction must have th b li —— i
There are 3 lots of —; in | éso li— into a fraction = % Try these. The first Wyg ﬂl‘: fiz‘:: f‘:)f“;;ll !me'
Now write these as fractio% ' — ? 3
|- 5 j2 . 5 s _ 8 ?’?'i L*%’@ A I f*#’
S A e =11 =
= 5 = +—=—=|= 2= +L=| = + =| —
21-2 | [12-2||25-2 I s B
Write these fractions as mixed numbers. 5,2 7 2 1 —T 4 _2. ? 4 _3 -H
z 3 7 - 5% 15 32 soeg) | 23| |F L[| elO
4 4 3= 10 ) - -L_—ts? 1-.&:3 _L__'_=T 2 _2 _I
R These examples need two steps.
=EQVIiVALENT FRACTIONS 5 e - .
Equivalent fractions are fractions that are the same. l*i':l Z,i2=|= -i+i= — £+i=3
Here are some equivalent fractions for 3. E-{ %.%.T“z,%,ﬁ} + 4 4 : 3 % i é i 5
Fill in the gaps to find the equi fr"} ’ =El -/2 =Ii =E’
ill in the gaps to find the equivalent fractions. \i i 5
L = 2 L) 3 . 4— i 6 7 ] - 5 Z (5] q?
2 { + 6 8 "o Tz T+ ; ?";"5 rat % f*f‘g Ff*fa"g
4 _ (2 . 3 4 5 6 il ]
3 ¢ ' a '_lf’l;’Ts_} ‘I% ’I4I—_ -I% =E
CREE ST =
8 12 le o0
Now put these FRACTFONS = \«‘:’: I
% - { % ! % ’ % ’ %2 IgoT(a) '2“900 % into t:eir correct order @ [%é
. ; 3 4_ 5 i from smallest to largest. & P
é { 1z 18 " z¢ | 30 | 36 ; [%é

187



—_—
vz PERGEINTAGES 7% 7z

7
Percent means divided by 100. |
N

Jd9 or 0.1
10% means 10 out of 100 or w00

27% means 27 out of 100 or llo% or 0.27

15 _ 3 25_ L 30_3 _2_3
15% =|j00~2025% =00~ % 30 /-:m— 012 » =025
60_3 . _45_9 . _ 4
sx={g=% % =100"5 +*=150"2 11 %=
7506 — [
=125_- L ¢, — 5 N =
o0k ={ =1 RIE=ERIN= 50 o1 =00

= Write these fractions as percentages.

g6 6% 25 254 5o .50

100 loo loo
o 5.5y . .5050.  .7070,
20 oo 0 100 ) ) O/’
#2833 45050

= Write these percentages as decimals.

27%2=027 ¢o% =06 25%=025 50%=05
307 =03 45 7 =045 19% = 1 27%.=027

= Write these decimals as percentages.
0-33 = 33'/-

05t =5%4% o062 =82%  os55 =55%
oz =212  0495=95% o4¢ =60% o7 =_[/%
005 =5% 075=/5% o02=2% o0-37=37%

\

n 50%-5_O=_I

Equivalent percentages, fractions, and decimals.

Write the correct numerals in the spaces.

loo 2

100 4

H 75‘/-=7_5=§ (4] z_a%=2_o-l_

1oo 5

Complete this table. g

[ Percentage | 102 | 20/130% 40%450%
A

o7 |7o%|80Z|90%|I002

zZ z |4
jo|ie | To

s

€ | Z

8
1o |Te|l1e|Te

sls

Match up the percentages with the fractions.

NSNS

% 7 )
n To find 50% of 10 :

Lo «x 10
100

or L oS 10 =5
>

50% o 10 s 5

aq

45144,

20 |26 | 34 | 50 | 68 | 74

01I13] I7125934]3

Find 50% of :

9 Find 25% of 2.8 : 25 28
or L x 28 = 28
3 4
| - 7
| S 25% of 28 us 7

200 (Jooe | 50

] |12 | 20| 36 |40 |80
Find 25% of : 31519 [10[2050 250!25’or
125
B Find 30% of 20 : 20 x 20
100
or 3 x 20 = go

| 1o 10
| - 6

" 30% of 20 5 ¢

Find 30% of: mmmmmmmm
/1012 2013370633450

N Nmm

AN

* A woman's income is

* She gets a 10% raise.

* How much does she

7

$500 per week.

now earn 7

+'+ she gets a §50 raise

and now eams $550 #

* A shop offers s discount
of 30% off all jts prices.

* Yousee a telephone for

$150.

THIS MEBANS 30% oF 150

THi$ MEANS 19% of 500 =322 .50
foo
=2 x 500 or 2 x|S0
jo
L% s - 45
= 5o

How much is the discoun: 7
You get a $45 discount and
only pay (§150 - $45) $105

* Your parents decide to

Bive you a 20% raise in
your allowance,
* You get $5 8 week now.
+ How much will you ger

aficr the raise 7

* You save $600 and spend 30% ofit,
* How much do you have lefi 7

* The high score on a video game is 1200,
* You score 10% less than this,

hat s your scare 7

i
521200, = 120
12

* A fuctory has 1200 employees.
* 75% of tiem are women,
* How many men und women work

atthe fuctory 7

X200 = 900

* You eat 20% of the chocolates in a box
that hes 50 chocolaes

* How many chocolates did you eat 7
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Our numbering system is based on tens. Each digit has a place value.
Decimals include numbers less than 1.

Here are some decimal fractions

L@ L L 1 @1

3-_3 072 16 =16
1o ) T)
ol =_1_ 0-135 =_135
loo 1000
i Wlié these decimals z fractions 5 2
oo+ 10 o-3 _14_ o6 II_O 0.5 ’—Cl) 3.2 D10
Z 4 1 1
z-7&0:-+’&p:&1-._l@2.02
1 43 62 22 5
0:01 100 o6.43 100 5.642100 4.22 100 oof_loﬁ
2l 5 12 I
(21 1100 405 4100 600 6 7427100 1.0 @

The number line below is divided into tenths. Different points are shown

l Ty N Y NS Y Y ST N W SO N IA__E
2 é
°c 5 i ' 1% %2
What numbers are shown on these number lines
__%LLJIIIAAI'lLlljllkllirll‘l_ALAJlx_irl
T T YN VA
10 10 10 [0 =10

g—*JJ_LLAJ_I_I_I_|_I444_I_A_L_I_I_'4_JJAJ_LLA_LP_LLJ_$_LuJ_|_.

e 5 12 |7 = 5 . 25 1
0 ’to IIO 210 3/0
Lo a g PRI R G I G S S A B A AT S G S B AT S |
T T L T T
5 6 g2 5 6 8 VAR
56 66563 * 70 8o
2 D% 3 4+ 5 52 ur;
2% %56 op

Show these decimal numbers on the number line above.
02 06 09

2

14 17 25

05 20 z

0-552@5

042+S0'4

Put in the > or < signs

o6 So ‘9
21 219
6-0a<¢
076 205

083 2a~8i

Rule:Keep the decimal poinis under cach other.
No calculators for this page L)

@ | 4% 4 4% 3 dF 4
G| 22 1 1 B ok
o|H% 4t ¥ § 35 5
b | 5 & 25 9 9 5
®| 4 B o

2

x 20 X 16 b 22
o 1200 1o | 160 5 IO
20 | 400 100 1600 to | 220
5o 1000 200 | 3200 2o | 440
100 12000 N\| 522 [SOO0 N ree | 2200
\&\\ \ NN \\\

x | 18 N x | 27 | ¥ 35"0
100 20 |54 10

20 SO0 e [ 700
1o | 180 8o | 2160 N 3¢ | 050
5 q0 100 | 2700 so | [/50

Write a > or < to make each sentence true

10 x 35 309 20 x 17 550 )
15 x 100 455 40 x ao;za ’
5 x 43 zao o x 82 7e0 '
5 x 16 5o 0o x 5 +=|a

10 x|2 150 20 x 2 300 ’
oo x 6 60 15 x 20 350 ’
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= e
[z (]

REViISioN

No calculators for this page

EXAMPLES §» 9-7x10 =97
6-4xlo=_064
3.24 xl0= 324
0-05|4 x100= 514
9.2 x100=

0-6 x1000=

P oo & 1ooo

point (o the left

Rule : Move the decimal

WWWWWW
58-119x 100=581119

127 xlo= 127
5.77| x10 = 5771

6-0892 % IOO=6_88ﬂ,2
87.24 x 1000=8724

BvpLES ) 627410 = 627
3.4 +10= _0-34
os55:10= 0055
163 - 100= 0163
410 :100= 410 _

582 +100="582
27:10= 02/
1223+10=_1223
34 86 +|oo:O'/34;88
749 :1000=0079_ /

0543x100 =_543
8-421x1000=_842|

EXAMPLES
Rule: Count how many decimal places. | 45y 3 - 126  2.4x12=288
1 decimal place 2 decimal places
The answer must have that many places 214x2=428 311x05= 1555
2 decimal places 3 decimal places
ind the answers .
Fin (calculators optional)
3.2 41 54 2 44 3.2
n 6 x5 x2 x8 X 2 , x4

Bl 5 i_on 7 n i
[6 230 744 342 234 58%
6! 37 +4+ 6.2 53 4%
9‘ 205 ©74 3257 ¥4s B0
35.6 1724 16-22 5.21 671 132/
B |27 3763 15384 #6839 5013 é505
16 -6 14°5 4-9 5.4 6-2 76
@ 3:(:.le x3-7 xfs x4 .7 % gi_g* 2

Now use your o-607 4.71 3.78 6-55 5-23

calculatormxa'f X 645 %211 %x3:07 X958
0-3035 30-3795 7-9758 20°1085 50034

9 34 - 5= . = 5 x -

19 % 34 76,60'%5 24 %16 1'738‘7'208I6 5 %18 =20/

27'5 x 13°9= 1497 x2:6)5= 19-8x15.27 =
382 384405 302346

—A number line can help you round off.

120 is APPROXIMATELY j00

@, .
} {
200 2g0 300
286 i$ APFROXIMATELY 300 7
T R S N U NN (NN (Y NN N I I MY I N Y N N N |
AN 120 ! 260 T
100 200 300

260 iS ArPROXIMATELY 300

Round off these numbers to the nearest 100

330 690 407 85

17 ‘%O 263 O 470 95

140 @ 158 ZQO 499 SQO 50

SSS

Round off these numbers to the nearest 10

87 ﬂ 4z _O 144 236
24 ZQ 16 <\ 391 S_q(_) 216
321 33_0 465 _ZtZO 198 ZQO 372

R

Round off these decij to the nearest wl number.
80-6 8’ 41'1—£? 6 h7 151
12-7 _’3_ 18 - 55 _I_
w1 20 56 4

Is-5 1441

15

w27 e T&

Rounding to the nearest 100

Circle all those numbers that would round off to 400.
Underline all those numbers that would round off to 500.

P

75176 4S50 53| 355

,
)
2T S

NG Y AR
the letters to work out the answer to the codes

l?30"

VI 10° lI0°
40 [ —
I] What does a frog with long ears say ?
RABBIT RABBIT
a 10 25 175 175 110 130 10 25 175 175 110 130
Whatdoesabanditfrogsay’.’R O B , _I_ R O B ’ T

10 75 175 110130
E What does a frog tailor say ?

RIBIT RIBIT

10 110 60 110 130

9 What does a frog engineer sa)k?
l

RIVET RIVET
E 10 110 90 40 130 10 110 90 40 130
What does a computer frog ng?O B O T R O B O T
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N

An estimate is a guess. (But not a wild way out guess.)
Estimate the size of each angle, then using your protractor measure the angle and compare it

with your guess.

k

T

ESTIMATE | MEASVRE

g Io°

h 135°

i I80°

j 2301
K 270°
1 200°

RiISTMAS &
’BC'”QWZZEKS

Choose which angle size is the best estimate of each angle.
Match up the letter of the angle with the answers in the codes .g

S
290 or(270)
or 200

5 20 oro)_xc @D/

3 (360 or 300 g /Eg
® MARY CHRISTMASY

45 210 200 (B0 150 5§ 200 360 300 260 45 1290 300 b’

B CuLszuas tvid

A

[

45 o
180 or

in. 360 350 300 150 5 200 360 300 250 45 270 300 145 20 M5
g 3¢0 ae 270

.“..Néﬁéguﬂéigg:Jéﬁé?jfgégéiig;

A (4 E 4

I praw ABC=30° € Draw DEF=70° E Draw GHI = 85°
o) o o
lI0 125 150

v K M NP Q

@ Draw IKL =110° Draw MNO =125° 5. @ Draw PQR =150°
o o
30 < 100
r s w v

£
Draw STU = 30°

€3 Draw VWX = 100°

[¢]
XQO 7

&l Draw 1xz =90°

Write down an explanation for each.

I Right angles

—

@ Acute angles

P

] Obtuse angles

@ Straight angles

= Aright angle
o
n_angle of 90
= An acute angle 7

obtuse angle

n_an
A e of 180°

J

A gﬂex anglz o o
=NoWiT’s YoUR

@wxn{

3 My
//9\\
V -

_

—

B Reflex angle

T~
N

L

Draw 4 acute angles

<

Draw 1 straight angle

Draw 2 obtuse angles \K

9




4Q° M T
N&mw s\ 100° T OA Ty

E 75° 35°
07| s [ B g

o
70 A~ ——io

What is the diffa an Indian Elephant and an African Elephant?

“ABOUT THREE 551

75 15 90 35 60 60 30 130 80 80

THOUSAND

60 30 90 35 110 75 40 170

M_LLES,/"

100 140 85 80 110

= GEOMETRY-

What is the size of the smaller angle between the minute and hour hands?

\\\\\\\\\\\Q\g\

W

Write down the value of angle ABC

n O 4
5L¢ 4_50 I’Z a5° E= 85o

ABC= B AB
A

H 4

N 120° = 15°

ABC=

v

G}

4
[4
10°
50°
5 o O | 4 ] ]

) anc. 130

70°

ABC= _~_—

‘What do all the pairs have in common?
All the pairs have the same size

These angles are called Vertically Opposite

Vertically Opposite angles are the same

Find the missing angles to crack the code

—WHY PiD THE CXAMBER NEED A LAWYER 7

“I T WAS

IN A PICKLE,”

45 120 10135 170 45 no 135 60 45 100 35 70 25

How MANY DEGREES
iN A STRAWGHT LiNE P-

n Draw a triangle on a piece of
cardboard and mark all the vertices.

[2)

Cut yourtriangle into 3 parts.

E Now put the three marked
angles together.

You should get a straight
line.

[e]

180

= How many degrees do the angles inside a triangle add up to?

180°
™= How many degrees do the angles in a straight line add up to?

You should have found that angles on a straight

line equal 180°
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—WHAT PO THE iNSiPE ANGLES oF
ATRIANGLE APP UP To

Find the missing angles to answer the codes. g

@ | L e p R

309 O m

[>
50 sp ‘Qﬁ‘ 0 70 \60 m\

o| | o

BO

E N 65

AW VA

Ao

What do misers do when it is cold 7

THEY SIT AROUND A

553578100 72 30 S5 65 7550 4560 90 65 40 65 60 90 70 78

What do misers do when it is very cold ?

THEY LIGHT 1T

5535 78100 70 30 803555 3055

Angle

A 53°
B 51.3°
c 77 4°

A+B+C |= 180°
P 563°
Q 675°
R 563°

P+Q+R |= [S0°
L 60"
M 60°
N 60°

L+M+N |= /SOO

/‘\ng/e answers are the actual values.
Your measurements will /orobab/g onlg be
accurate to | degree,

82, 834” “hgy

H = MEASVRE
TYPES OF TRIANGLES/\ VR,
ecmies o b cm
PR 75 cm
QR 7 cm
=MEASVRE THE
ANGLES?
P 67
o
o 670
P Q R 4'6
Give an explanation of an isoceles triangle.
A triangle with two sides the same size and two

angles the same

Tonight's homework; Leam how to spell ISOSCELES.

i

—
= MAKING PATTERNS

= MEASVRE
THE SiDES /S

TYPES OF TRIANGLES/2\

EQVILATERAL N
TRIANGLE
~ _ 7 €cm

=MEASVRE THE
QNGLES,
L
(o]
L M m 60 S
N _60

Give an explanation of an equilateral triangle.
A ‘I'r(an_g/e with a/? ides the same size and all
zzng/e Pm,_ua/ 60°

wm_ 7/ cm

My _ 7 €M

You can rotate clockwise : > or anticlockwise ‘ >

57 ROTATiNG

11 |

Rotate the shape 90° Now you rotate the figure 90°

clockwise around point O around O

Tonight's homework. Learn how to spell EQUILATERAL.
= MEASVRE

TYFES OF TRIANGLES A\ EASVRE
SUUENE xy 45 cm
vz 66 cm

~ xz /7 _cm

=MEASVRE THE

LES?
x _60
x 2 v 850

z L_

Give an explanation of a SCALENE triangle.
triangle _in_which all _sides are a different length

and _adll angles are different size

Tonight's homework. Learn how to spell SCALENE .

Try these rotations. To help you find the new position, use tracing paper to trace
the shape first and then rotate it.

-
L A‘<\ o} \‘

Rotate 90° anticlockwise

l
AN N

Rotate 180° around O Rotate 90°anticlockwise

N

Rotate 180° around O Rotate 270° anticlockwise around O Rotate 45° clockwise
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REFLECTiON

BEErEBCLIOM

= YVLL NEEDP AMIiRROR
FOR THiS FAGE /

What does the window look like from the other side?

Complete these shapes §

uiz e B

i

]

APOVE,To rﬂ |
MAKE TT 1] l
SHAPES. 71 | 1|

Complete the reflection

THE JELLY WOBBLED WHEN iT SAW THE MilLKSHAKE.
LHE 1EFrA MOBBrED MHEU 1L 2VM LHE WITKZHVKE

117 S0
(/Z /\) ‘ I

Now use a mirror on this to make the shapes below

‘When a figure can reflect onto itself, the mirror line is called a line of symmetry

|
|
| AN
|
|
|

1 line of symmetry 4 lines of symmetry 2 lines of symmetry

ol
SYMMETRY :
.
7 !

) Name the shapes and draw any
Now calculate the missing angles

ANS

axes of symmetry

.- -_35°

o s
7,_40O_ b-Tq5
2-_40 =95

‘ Complete the figures around each line of symmetry to answer the code

BALD rRABB I TIs
sHOULD WEAR
HARE TOWI

9
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- = =
WHEKE 1S THE = 5 - ALCEBRA=

~ToINTHE Co-oRDINATES T0 FiND Him? — — E—

- Write down the next 3 numbers

7 L~

; P ’ 2 4 ¢ 8 10 2. 14

20 / . .3 .5 7 .9 I 13

/ // 4 8 2 16 20 24 28
7 3 e 25, 3 . 37

NE o .. 8 . 6 . 4 2 .0 =2

' = EACH NUMBER iN A PATTERN i CAULED

== A TERM/
2 = \J = Find the missing terms

7 Iao.1;.q_o.£5.sv 5_0.44.53.31..2_6
4 Look at these patterns

: \ ) w1998 275 L., -
2 19 x 3 -2997 555 x § -2/75 37 x 6 -QZ
‘ VAV 999 x 4 -.39496 5555 x § -_27_775 37 x 9 =ﬁ3
ﬂkr ] i ’ o 719 x 5 -4495 55555 x 5§ -2/7775 5, « 1z =444
' 99 x ¢ =ﬂ4’ rox -I_ 37 x I5 -5_55
12,9 10,7 11,8 4,10 8.9 104 / 991 x 7 -.@_3 nox 0 -ﬁ

6,15
16,21 16,25 11,17 9,17 1,21 0,22 5,20 .11 $:16 6,14 8,20 B,1% 7,15 é
’

5,14 5,13 6,12 7,10 7,9 6.4 ¢,7 55 6z 7,2 8,5 7,2 62 1.2 ﬁ 9114 x"_7qq2 e ox -_12_321

4,6 5,5
2//////////////// 7 e 91949 x 9 S&qﬂl Hn o x nn -L34_32I

2,10 13,12 14,14 13,05 12,15 11,14 11,15 12,16

99w L 103
1044~ &0

Wﬂ/]lll////l/// NN, /I/I//////////I/////I//l/////l////
'4 Sometimes we get a letter to take the place of a number. ?
g We call these letters pronumerals or variables. 4
//r A ATAIIAIAA AL NI SIIYY 7777 ///I///////I/II/////II%
SessEssEENEERREEENN S sasEsEsEssanEEEREEm \\\\\\
6+ 6 =2 %6 13+ 13 +13 =3x13
btbte=2b+e a+ra+ra+rx+x= 3a +2x
a+arqg+a= 4xa
EVERYTIME YoV GiVE WONPER = 4a
CALCVLATOR. A NWBER., E Now try these.
AMOTHER ONE Fors ovy s \C
Za 4—6
. + =
WHAT is WoNDER. PoiNG 7 RS are {- ereveres
FibL 7N THE GAFPs Febs+f= 3 5'1*5*1'9*0*5'

z"xfxf;—4-—.x nyf‘ Y*"#
J'J*J*kkk— mememaememeprp= 2P
/m/ el sl 6| 7| s

/%”””’/7/// ddbrdir-Yiydrs 2a+ 4a = 6a 1op - 2p = 8
o~ slolzl% |6 P s

Z % You can add or subtract terms that are the same.

The rule is muH—IPIBf b_l;l 2 Try these
7 1////////// s 6 3b + 4b = _l 5z + 2z = 7Z £y + 2y = b
4 7 8
/1”/11/1’ . i . I0x Lo
”//// —~ 154 + 144 = 6x + 2
/ / alio|ill (1213 3n v émz_ AN e sieas_ 300 4 4 isq - 24

add 5 4zq + 169 = 58 S5t +13E= Ig-l- 15h + nqﬁ-.&Zb
14r — 12, = 2r es - 5s =_\3&

y

:

The rule is

II/I////I

f

lop - 7p =

S
/ /””//” ¢ 6 7 8 z7b - 16b =

17b — 8 -q_b 25j - 15) = IO
A 3|4|5|6|7 6t . Bw
ééi”// 3 4‘ 5 6 7 25k - 8k = ne - 5t = 4w - 33w=_I1DOUW

- = 161 —1ap= 8P s - 41
3zl 6L = 27 1p = 31 27i=-_T1
The rule is Sub‘h’aC‘f I §

AN}
S

5

195



4
7

NN

v l///////////// 7
Halhloli <[]
7

12r + I5r = 27r bz - |n-__[tZ 4t + 27t -3_H-
27k - 12k = EE

AR 32 - 25,- / 424 + M4a -ﬂ
oo+ 1ee = OF€ 2ph - 7h=ﬁ 19t + 12t -ﬂ
I14b +sz7b+zb+6b-_6_8b Zm t bm+9m + 15m =3_2m
12p -6p +3p+5p- 6p -ép 279 - 12q- Bgt ¢q -ﬁq

=SVBSTiTVTiING MEANS REAALING A PRONVMERAL WITH

a+ b = 6+7 ab = 6 x7
az6, b7 =13 -

4z

b-a=17-6 a = 6

_ b 7
+2 =2 6+ 2 4b = 4 x7

= 3 = 28

qa_ ,,. 48
I3 Z+ 4 = 3

Z+ lw-_’g

?w+zy-’—,

Use the table to find the value of :

h#i«’l ’:-l,-

10
k*j=i Los e 2
k'b=i t-k-i
kilsﬂ +L=2_O
por k- 12

aan

if X =2 then X +5> 12 is false

L X +5> 12 is an open sentence
X is called a variable
if X =20 then X + 5> 12 is (rue

nComplcle this charl % §

Variable Sentence

9 Find a truth set for each senl:nce.-%TX

True or Falsc Sentence Truth Sct

X=10 X+7>15 '/'rue X+4<7 {0,1,2,}

Y=3 10-Y=5

false | [
M=5s [ M=2s 'h’ue X+5=12

{567, ... af= THIS, THE
WS LR

L7 ]

L lo)23L]
L 78a ]
Lls76..
L5671
[ 14321001
| I5432]
LlnsbAl B T

w=2 W+20>12 'h"ue X+6<10

)=4 P+2<20 "'Fue X-4>2

false | | x-e<s

C=6 5C =56

false | | »=

E=0 4E+2<0

K=5 2K+3<1l

false | | -

{-alse 18+X>3
U=15 U-8>0 'l""ue 2X =21

R=10 R-6<4

5

Work out the answers to the questions. Use them to crack the code.

e ——

8+R=4

w-_12 R-_ 2 o-_16

4Y =28 27-B=12 2N =38

v-_/ B-_I5 n-_19

21 + A=1

A= 3 S= 6 T= _.Ig

S+S+S=18

U+6=6

v-_36 p- 28 E=_O

P-8=20 SE=25

X +10=5

ne 39 x=_50

=How po yov Knovw wy,
IEN YOUR.
TEACHER HAS A4cpys,
wvp o~

"ijaztﬁ PUTS AN X BY
SPLR ARIWELS

16

APPLES $2:20 kilo

$1-30
$2-20

Mrs. Ivan buys 1 packet of tea, 1litre of milk, and a loaf of bread.

I] How much for 1 litre of milk ?

How much for 2kg of ?

She pays w,'t.h a $5 note. How much change should she get?

otal cost $495 ( hange: 5 cents

9 How much will 2 jars of jam weigh ? 2509
How much will 4 packets of tea weigh ? IOOOIQ“ (I k’g)
How much for Jz. kg of ? 55 Ce”+s

The loaf of bread can be cut into 20 slices.
How many grams will each slice weigh ? 50 grams

@ Mrs Ivan arrived home with her new packet of tea. She found she still had
half a packet of tea at home. How many grams of tea does she now have ?

aqrams
J

E Mr Sealy buys 1 dozen eggs, 3kg of apples, and a loaf of bread.
How much will it cost him ?

$i0-85
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1000 metres = 1 kilometre

10 millimetres = 1 centimetre

How many metres to the shoppi

geenner__10.000M

How many metres in 0.5km ?

500m

You run 400m. How much further do you have to run to complete 1km

600m

Approximately how long does

1000g = 1kg kg = kilogram

t = tonne

1000kg = 1t

You draw a line Scm long. How many mm is this ? _S_Qmm

A farmer is fencing a paddock. The sides 400m, 250m, 125m, 220m.

fence need to be qq
a/o,grg); 7/75 5

2300g = 23 kg
4600g = 46 ke
- 58000 ,
m- 27000 ,
 ue 2000

s- 22000 i
20250kg = 2250 xe

-4wmrwwﬁwmupnwwgnbM9&ms-
An clephant 7__TONNES

Abook ? CH’ ams

Your teacher ? /er/oar ams

Your canary ? CM’ ams

Your baby sister ? IGIIOW’ ams

Your pen ? CH’ GH’YIS

Your desk ? I?I/OOH’ ams

N WOomoO R

Your whole class ? 'f'OHHeS

@

A 1.25 litre of coke costs $1.50
How, much will 3 bottles cost ?

$4-50

How many litres of coke

aréozg g’!!.!

A water tank holds 20kl of water.

How many litres is this 7

20000 litres

How many seconds in one minute ?

How many minutes in one hour ? 6O m ’”U'I-P
How many hours in one day ? ours

2 days = 48 hovrs 1 fortnight = 4 L
180 minutes = _LQS_QO_}&M 52 weeks -T_’_'agﬂ__
——L/"—ﬂ?’—— 1 century = _L__l‘sms_

A

2 weeks =
28 days = oV 1year=
3 minutes = O seconds 1 leap year =
The next leap year is 2008 20’2 2016 7
7277 777 7 7T /

.

iNG ,
THE TIME J -~ e Aot e sockFacE

9 Afternoon

E Evening

I2:4-Opm

3:05pm

6:30pm

@ Afternoon

II55am I:SOpm

ﬂ Evening

N

Time in Words % Time in Numerals 7
Ten minutes to nine (moming) 8.50am
Twenty five minutes past six (evening) 6:25pm
Quarter past three (afternoon) 3-[5é)m
Half past six (evening) 6;3olgm
[en _minutes to four (afternoon) '3.50pm
uarter past twelve (afternoon) 12.15pm
uarter to nine (morning) 8.45am
Ten past_nine (mormng) ’ 5.10am

THis €LOCK SHOWS
HOVUR TiME

The inside numerals are for the moming.
The outside numerals are for afternoon times.
3pm would be 15.00 hours (fifteen hundred hours)

TE THi$
cotins TABL'E /

Z
/C{oc/{ume m 9 The bus picks you up at 7.55am.
// 2,

How ng is it from 6.30pm to midnight ?

Bhrs 30min

You hear that it is 7 minutes late.

6.00am O60o What time will it arrive ?

roopm | 1300 802am

E On the clock faces below, draw the time showing

3.15pm 515 347and 11.10.

so0m | 2100

1020am | [020

4’ ) 30’9’7] 16.30h 9 Write down other ways of saying;

/ Ipm 23,008 9.30 f_ I ne
e minutes to two
6-15am| os.15n 6.10 +e” ,K)aS'f' SIX

E When would we use a 24 hour clock time ?

22%m | 425 Recordi TV .

5'55’9 1 17.55h Bus/ Train/ Aircraft

timetables
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A calender helps us measure time.
The units on a calender are months,
weeks, and days.

Mﬁ?/@/;/_\ « + - ANP THESE FACTS %

30 days has September, 1 week = 7 days 365 days = 1 year
1 year=12 months 10 years = 1 decade
52 weeks = 1 year 366 days = 1 leap year

April, June and November.

| All the rest have 31, except February alone, | I janyary @ reBRUARY 1 MARCH
which has 28 days clear, © ApRiL B may @ June
JuLy A aucusT K sepTemBER
ch leap year.
but 29 days e P @ ocToBer M NoveMBer @ DECEMBER

u How many days in one year ? 365 How many months in one year ? _12_

[.I.I.I.] .’(.I.. E Wh/ic\hlnwnmshavebBOdays? Sell#em er AIUI/II June
or— 2000 2300 0415 ./7&5 ovember

‘Which unit, one second, one minute, J
or one hour, would you use to measure the time: Il To mow the lawn ? @ Which months have 31 days ? anuar

e To sharpen your pencil 7% E To get from home to school ”m[n_uies Ju/u Aua“s"' Oc'i'ohpr DECember
| 5] 4Fearsisal , where February has 29 days.
(4] To do your maths homework ? min U'/'eSB To wash your hands ? El:?maﬁ;aé:;,z ?:loce:ng eb:tu a:vy ::: alley t:’:g,! as 24 28

@ To write your name 7% To play your favourite sport ? b.Qu.CS_ @ Is 1995 a leap year ? 0 When is the next leap year ?
4
MTA M’N Vﬁ @ Write down the dates of Monday during Dy b *

how long _is_your name?

How many times can you write your name in one minute ?

ﬂ Write down the day of the week for these dates.

-
How far can you run in one minute ? how fast were you:

1st October __*_ 30th May *— 1st January *_

How many jokes can you tell in one minute ? how_funny are you?

11th September. * Tth June _*— 15th August *

How many times can you bounce a ball in one minute ? how _sporting are you?

@ How many Tuesdays in March ? *
When does the bus depart Rulerville ? qz O m How many months have 5 Wednesdays ? K
How long is the journey from; . S @ How many weeks between 1st September and 20th October 7 *

:::::L:: : :’::::" ;v:sf%ﬁg:ﬁtf [B How many years in a decade 7 , @ How many weeks in 1 year ? l

Arc(hcscn'mcslikely(obeamorpm’!__g.m_ * epenas. . on +e ﬂeal’ ou are Olng H‘HS

6w w7
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n Avalon swims 3 lengths of a SOm pool. L - M M“REM LENaTH
How far did she swim ? I5om “—éé;%-;:; The unit of measure we use most is the centimetre (cm)
== = For a more accurate measure we use millimetres (mm)
9 Estimate each length below in cm. Then measure to see how close your estimate is to the actual length.
Jason runs 2 laps of the 400m track. (
To HELP yov ESTIMATE,
. MBER THE WIPTH oF YoUR
How far does he run ? 800m =~ REE e 1 AouT lom ) S o
- 77777/
% Length % Estimate Measure% —éf
E3 Hine is 152cm tall. Lenny is 164cm tall. . AB 102mm ,
How much taller is Lenny ? __lzam_ DX SOmm B R N
. L CE 65mm
X _exeAples—ont AF 10mm
9 132cm can be written as 1.32m E Name an exalt;)le when you
Write these measurements the would use these units to measure QU 204—”’"’
same way. % a nencl
. mm BR
gem _[48cm ¥ 46mm
suem _D22CM Ok su 25mm
6541cm ) m X car I/'IP XT 40Omm
VA 30mm
@ ‘What unit of measure would you use to measure; WT l 8 mm
The length of a pencil _mm E
Your height m 1
- /e The perimeter of a shape is found by adding the length of each side.
’/’ Auckland to Wellington m Find the perimeters of these shapes.
[}
s ! in __ MM D : T ' O
The thickness of acoin _ FFIFFI 7 Line 7 Length. M
The length of a rugby field V1 ap_|50mm T |26mm
< > [50mm ™ |50mm
i The depth of a swimming pool m
Ea  (50mm ME (26mm
i mm
@ The length of this book L ———— A E | Perimeter [[50mm| ET |50mm
(mmyemy my or km) 5 | perimete 15210
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